Bid #PNC2117206C1 - Utility Analysis Zone 122

Start Date Sep 6, 2018 11:24:36 AM EDT Awarded Date Not Yet Awarded

PNC2117206C101-01 Base Bid: Perfo	rmance and Payment G	Guaranty and Insura	ince		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$96,000.00	1 / lump sum	\$96,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Giannetti Contracting Corp.	First Offer - \$175,000.00	1 / lump sum	\$175,000.00	Υ	Υ
Agency Notes:		Supplier Product Code: Supplier Notes: Original Bid Bond Mailed Via Fedex to Broward County			
Man Con Inc. [Ad]	First Offer - \$360,000.00	1 / lump sum	\$360,000.00	Υ	Υ
Product Code:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$409,000.00	1 / lump sum	\$409,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Southern Underground Industries, Inc.	First Offer - \$415,000.00	1 / lump sum	\$415,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$438,663.00	1 / lump sum	\$438,663.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Lanzo	First Offer - \$460,000.00	1 / lump sum	\$460,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SkyData UAV	First Offer - \$20,250.00	1 / lump sum	\$20,250.00	Y	Y
Product Code: Agency Notes:	First Offer - \$20,250.00	Supplier Product (Supplier Notes: Proposed is located that is comprised of 1 family and common a bounded on the north West Oakland Park Bounded on the Proposed Photograph Prior to commencem Mobilization Phase, to streets and throughout mile construction zon driveways, sidewalks, landscaping, culverts, Once per month and information, the composeries of individual and the completed work a sidewalks, curbs, pay culverts, fences, signature of the sidewalks, curbs, pay culverts, fences, signature of the sidewalks of	Code: oject Area in a 168-acre area with 5.86 miles of streets contrea buildings. The contrea by Middle River Cantrea bullevard, on the west	nin Oaklan onnecting struction sal, on the sal, on the struction s	d Park 76 multi site is south b ne of the 5.86- uding boxes, gress re a I video of

Deliverables - Photography

- A. Take photographs at the cutoff date for each scheduled application for payment.
- B. Take photographs at each major stage of construction.
- C. Take photographs at change order work.
- D. Provide five prints and electronic copy of each view.
- E. Provide additional prints to Broward County and the Consultant at commercial rates applicable at time of purchase.
- F. Color Photographs: Single weight, color print paper, smooth glossy surface, 8-inch x 10-inch.
- G. Identify each print on back, listing:
- 1. Name of Project.
- 2. Specific Location.
- 3. Date and time of exposure.
- 4. Name and address of SkyData UAV.
- Numbered exposure identification.

The photographs and video will be made with:

- High resolution and sharpness.
- Maximum depth-of-field.
- Minimum distortion.

Photography Capture

- 1. Aerial Photography: Fly a Phantom 4 Pro UAV in a straight line over all of the roads to capture a series of over-lapping aerial photographs of the 15.86 miles of roads and parking lots that will capture existing conditions, as well as illustrate the condition of construction and state of progress.
- Ground Photography: Photograph the stage of construction at cut-off date, each major stage of construction and change orders.

Video Capture

Ground Video: Per the bid requirements SkyData will walk the entire 15.86 mile area where construction will occur to capture with a high-definition video camera and provide a narrative the details of the existing conditions of roads, parking lots, sidewalks, curbs, storm drains, sewer and water manhole covers and the vegetation, as well as indicate the address of each station on the video.

Scope of work indicated in the Specifications and Requirements document:

- The audio track will be an original live recording with a narrative commentary by the SkyData UAV videographer, recorded simultaneously with fixed elevation video record of the zone of influence of construction.
- All video recordings will, by electronic means, display continuously and simultaneously generated with the actual transparent digital information to include the date and time of recording, and station numbers as shown on the drawings. The date information shall contain the month, day and year. The time information shall contain the hour, minutes and seconds. Additional information shall be displayed periodically. Such information shall include, but not be limited to, project name, contract number, name of street, house address, direction of travel and the viewing side. This transparent information will appear on the extreme upper left hand third of the screen.
- Deliverables: DVD of a HD recording in the format specified above.

Equipment

- DJI Phantom 4 Pro
- JVC GY-HM170UA 4KCAM Compact Professional Camcorder
- Sony Uwp-V1 Wireless Microphone System
- Canon 7D DSLR Camera
- Video editing equipment and software: iMac, Final Cut Pro,

	County Commi	issioners		Page 3 of 67
		photography Costs Note: Digital and printe within three business will include 1. Digital images taker application for Payme 2. Digital images taker 3. Digital images taker 4. Four (4) sets of digital Pre-Construction Phase Video and Photograph Ground Video of Bott an audio narration of t Aerial photography (aroads, parking lots and Ground photography buildings where const commencement of the Per Visit Cost - Approxi for Aerial and Ground 625 Aerial and ground ph	at each major stage of confidence of change order work. In media. In e - 15.86 Miles of the Project In Sides of the streets which existing conditions \$ 9 orthomosaic) of approx. The dividence of the fronts, sides and bruction will occur prior to	o are delivered appletion and cheduled construction. ect Area - le walking with ,000 5.86 miles of backs of the cor As Needed ad Segments \$ the completed
Man Con Inc. [Ad]	First Offer - \$830,245.00	1 / lump sum	\$830,245.00	Y
Product Code: Agency Notes:	1	Supplier Product C Supplier Notes:	ode:	
Southern Underground Industries, Inc.	First Offer - \$849,000.00	1 / lump sum	\$849,000.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
David Mancini & Sons, Inc.	First Offer - \$1,117,830.00	1 / lump sum	\$1,117,830.00	Y
Product Code: Agency Notes:	-	Supplier Product C Supplier Notes:	ode:	
Ric-Man Construction Florida, Inc.	First Offer - \$1,119,157.00	1 / lump sum	\$1,119,157.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Lanzo	First Offer - \$1,447,000.00	1 / lump sum	\$1,447,000.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Giannetti Contracting Corp.	First Offer - \$1,500,000.00	1 / lump sum	\$1,500,000.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$2,366,000.00	1 / lump sum	\$2,366,000.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	

PNC2117206C101-03 Base Bid: Maintenance of Traffic								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Lanzo	First Offer - \$62,600.00	1 / lump sum	\$62,600.00		Υ			
		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$62,738.00	1 / lump sum	\$62,738.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$95,000.00	1 / lump sum	\$95,000.00		Υ			
Product Code:		Supplier Product C	Code:					

	,			rage 4 01 01
Agency Notes:		Supplier Notes:		-
Ric-Man Construction Florida, Inc.	First Offer - \$97,072.00	1 / lump sum	\$97,072.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
Southern Underground Industries, Inc.	First Offer - \$154,000.00	1 / lump sum	\$154,000.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
David Mancini & Sons, Inc.	First Offer - \$192,000.00	1 / lump sum	\$192,000.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
Giannetti Contracting Corp.	First Offer - \$225,000.00	1 / lump sum	\$225,000.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	

PNC2117206C101-04 Base Bid: Excavation in Rock								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ric-Man Construction Florida, Inc.	First Offer - \$0.9301	4835 / linear feet	\$4,497.0335		Υ			
		Supplier Product Co Supplier Notes:	ode:					
Giannetti Contracting Corp.	First Offer - \$3.50	4835 / linear feet	\$16,922.50		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Southern Underground Industries, Inc.	First Offer - \$5.00	4835 / linear feet	\$24,175.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Lanzo	First Offer - \$5.00	4835 / linear feet	\$24,175.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$6.00	4835 / linear feet	\$29,010.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
David Mancini & Sons, Inc.	First Offer - \$15.00	4835 / linear feet	\$72,525.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$26.00	4835 / linear feet	\$125,710.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2117206C101-05 Base Bid: F&I, 4 inch DIP Water Main Pipe								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Giannetti Contracting Corp.	First Offer - \$47.00	43 / linear feet	\$2,021.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$64.00	43 / linear feet	\$2,752.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Southern Underground Industries, Inc.	First Offer - \$75.00	43 / linear feet	\$3,225.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
David Mancini & Sons, Inc.	First Offer - \$76.00	43 / linear feet	\$3,268.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Lanzo	First Offer - \$92.00	43 / linear feet	\$3,956.00		Υ			
Product Code: Agency Notes:		Supplier Product Co	ode:					

,				ı aye v	3 01 01
Ric-Man Construction Florida, Inc.	First Offer - \$98.00	43 / linear feet	\$4,214.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$115.00	43 / linear feet	\$4,945.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

PNC2117206C101-06 Base Bid: F&I, 6 inch DIP Water Main Pipe						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$33.00	4566 / linear feet	\$150,678.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$44.00	4566 / linear feet	\$200,904.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$46.50	4566 / linear feet	\$212,319.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$50.00	4566 / linear feet	\$228,300.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$51.00	4566 / linear feet	\$232,866.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$53.00	4566 / linear feet	\$241,998.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$79.00	4566 / linear feet	\$360,714.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-07 Base Bid: F&I &	B inch DIP Water Ma	in Pine				
Supplier	Unit Price	1	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$37.00	10463 / linear feet	\$387,131.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$40.70	10463 / linear feet	\$425,844.10		Υ	
Product Code:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$42.00	10463 / linear feet	\$439,446.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$54.00	10463 / linear feet	\$565,002.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$56.00	10463 / linear feet	\$585,928.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$60.00	10463 / linear feet	\$627,780.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$77.00	10463 / linear feet	\$805,651.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$42.00	5223 / linear feet	\$219,366.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$49.20	5223 / linear feet	\$256,971.60		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$50.00	5223 / linear feet	\$261,150.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$61.00	5223 / linear feet	\$318,603.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc. 👔	First Offer - \$65.73	5223 / linear feet	\$343,307.79		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$70.00	5223 / linear feet	\$365,610.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo	First Offer - \$87.00	5223 / linear feet	\$454,401.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-09 Base Bid: F&I, 12 inch DIP Water Main Pipe								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Giannetti Contracting Corp.	First Offer - \$58.00	8509 / linear feet	\$493,522.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Man Con Inc. [Ad]	First Offer - \$58.40	8509 / linear feet	\$496,925.60		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Ric-Man Construction Florida, Inc.	First Offer - \$69.00	8509 / linear feet	\$587,121.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
David Mancini & Sons, Inc.	First Offer - \$74.00	8509 / linear feet	\$629,666.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Southern Underground Industries, Inc.	First Offer - \$75.00	8509 / linear feet	\$638,175.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$77.00	8509 / linear feet	\$655,193.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Lanzo	First Offer - \$93.00	8509 / linear feet	\$791,337.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2117206C101-10 Base Bid: F&I, 16 inch DIP Water Main Pipe						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$80.00	216 / linear feet	\$17,280.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$87.00	216 / linear feet	\$18,792.00		Υ	

				raye / 010/	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$97.00	216 / linear feet	\$20,952.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$162.00	216 / linear feet	\$34,992.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$180.00	216 / linear feet	\$38,880.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$185.00	216 / linear feet	\$39,960.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$189.00	216 / linear feet	\$40,824.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-11 Base Bid: F&I 12 inch Flanged DIP Water Main Pipe and 12 inch Flanged DIP Force Main Pipe						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc.	First Offer - \$267,000.00	1 / lump sum	\$267,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Ric-Man Construction Florida, Inc.	First Offer - \$279,886.00	1 / lump sum	\$279,886.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Man Con Inc. [Ad]	First Offer - \$284,481.00	1 / lump sum	\$284,481.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$310,200.00	1 / lump sum	\$310,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$315,000.00	1 / lump sum	\$315,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$325,000.00	1 / lump sum	\$325,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:			
Giannetti Contracting Corp.	First Offer - \$400,000.00	1 / lump sum	\$400,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PNC2117206C101-12 Base Bid: F&I Ductile Iron Fittings							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Man Con Inc. [Ad]	First Offer - \$1,000.00	30 / ton	\$30,000.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
Southern Underground Industries, Inc.	First Offer - \$1,100.00	30 / ton	\$33,000.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
Giannetti Contracting Corp.	First Offer - \$7,271.00	30 / ton	\$218,130.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					

				Page o oi oi		
Ric-Man Construction Florida, Inc.	First Offer - \$7,980.00	30 / ton	\$239,400.00	Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:			
Lanzo	First Offer - \$8,600.00	30 / ton	\$258,000.00	Y		
		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$9,000.00	30 / ton	\$270,000.00	Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$14,000.00	30 / ton	\$420,000.00	Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2117206C101-13 Base Bid: F&I Fire Hydrant Assembly w/ Swing Check Assembly							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Southern Underground Industries, Inc.	First Offer - \$3,500.00	52 / each	\$182,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
David Mancini & Sons, Inc.	First Offer - \$4,700.00	52 / each	\$244,400.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Giannetti Contracting Corp.	First Offer - \$5,329.00	52 / each	\$277,108.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Lanzo	First Offer - \$5,500.00	52 / each	\$286,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Man Con Inc. [Ad]	First Offer - \$5,653.00	52 / each	\$293,956.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$5,800.00	52 / each	\$301,600.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ric-Man Construction Florida, Inc.	First Offer - \$8,425.00	52 / each	\$438,100.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2117206C101-14 Base Bid: Remove & Salvage Existing Fire Hydrant Assembly							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
David Mancini & Sons, Inc.	First Offer - \$464.00	49 / each	\$22,736.00		Υ		
		Supplier Product C Supplier Notes:	ode:				
Southern Underground Industries, Inc.	First Offer - \$640.00	49 / each	\$31,360.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
Ric-Man Construction Florida, Inc.	First Offer - \$761.00	49 / each	\$37,289.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
Lanzo	First Offer - \$1,000.00	49 / each	\$49,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
Man Con Inc. [Ad]	First Offer - \$1,022.00	49 / each	\$50,078.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

				Page	9 01 07	
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,200.00	49 / each	\$58,800.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$1,266.00	49 / each	\$62,034.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

PNC2117206C101-15 Base Bid: F&I 6	inch Gate Valve w/ B	ox, Extension and a	III Appurtenances			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc.	First Offer - \$1,049.00	90 / each	\$94,410.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$1,067.00	90 / each	\$96,030.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$1,170.00	90 / each	\$105,300.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$1,200.00	90 / each	\$108,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$1,400.00	90 / each	\$126,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,600.00	90 / each	\$144,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$1,777.00	90 / each	\$159,930.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2117206C101-16 Base Bid: F&I 8	inch Gate Valve w/ B	ox, Extension and a	II Appurtenances			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc.	First Offer - \$1,400.00	24 / each	\$33,600.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$1,467.00	24 / each	\$35,208.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$1,538.00	24 / each	\$36,912.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Lanzo	First Offer - \$1,600.00	24 / each	\$38,400.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$1,900.00	24 / each	\$45,600.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$2,100.00	24 / each	\$50,400.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$2,190.00	24 / each	\$52,560.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc. 👔	First Offer - \$1,942.00	18 / each	\$34,956.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Man Con Inc. [Ad]	First Offer - \$2,042.00	18 / each	\$36,756.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Giannetti Contracting Corp.	First Offer - \$2,116.00	18 / each	\$38,088.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$2,300.00	18 / each	\$41,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$2,500.00	18 / each	\$45,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$2,800.00	18 / each	\$50,400.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Ric-Man Construction Florida, Inc.	First Offer - \$4,005.00	18 / each	\$72,090.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PNC2117206C101-18 Base Bid: F&I 12) inch Cata Valva w/	Pay Extansian and	all Annurtananas		
Supplier	Unit Price		Total Price	Attch.	Docs
David Mancini & Sons, Inc.	First Offer - \$2,600.00	20 / each	\$52,000.00	Atton.	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$2,628.00	20 / each	\$52,560.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$2,716.00	20 / each	\$54,320.00		Υ
		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$3,000.00	20 / each	\$60,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$3,420.00	20 / each	\$68,400.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$3,500.00	20 / each	\$70,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$3,841.00	20 / each	\$76,820.00		Υ
Product Code: Agency Notes:		Supplier Product Consumplier Notes:	ode:		

PNC2117206C101-19 Base Bid: F&I 16 inch Gate Valve w/ Box, Extension and all Appurtenances						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$5,811.00	4 / each	\$23,244.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$6,000.00	4 / each	\$24,000.00		Υ	

	County Coi	11111331011613		Page 11 of 67	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	Ü	
David Mancini & Sons, Inc.	First Offer - \$7,000.00	4 / each	\$28,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$7,700.00	4 / each	\$30,800.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$7,917.00	4 / each	\$31,668.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$8,200.00	4 / each	\$32,800.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$8,244.00	4 / each	\$32,976.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-20 Base Bid: F&I 6	inch Insertion Valve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$7,900.00	1 / each	\$7,900.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$8,150.00	1 / each	\$8,150.00		Υ
Product Code:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$9,086.00	1 / each	\$9,086.00		Υ
		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$9,925.00	1 / each	\$9,925.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$10,000.00	1 / each	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$15,145.00	1 / each	\$15,145.00		Υ
		Supplier Product C Supplier Notes:	ode:		
Lanzo	First Offer - \$19,254.00	1 / each	\$19,254.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117206C101-21 Base Bid: F&I 8 inch Insertion Valve							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$8,800.00	1 / each	\$8,800.00		Υ		
		Supplier Product C Supplier Notes:	ode:				
Giannetti Contracting Corp.	First Offer - \$10,400.00	1 / each	\$10,400.00		Υ		
		Supplier Product Code: Supplier Notes:					
Ric-Man Construction Florida, Inc.	First Offer - \$11,825.00	1 / each	\$11,825.00		Υ		
		Supplier Product Code: Supplier Notes:					
Southern Underground Industries, Inc.	First Offer - \$12,000.00	1 / each	\$12,000.00		Υ		
Product Code:	_	Supplier Product C	ode:		•		

	•			ı aycı	20107
Agency Notes:		Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$12,131.00	1 / each	\$12,131.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$16,028.00	1 / each	\$16,028.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lanzo	First Offer - \$21,300.00	1 / each	\$21,300.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117206C101-22 Base Bid: F&I 1	0 inch Insertion Valve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$12,200.00	4 / each	\$48,800.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$14,000.00	4 / each	\$56,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$14,000.00	4 / each	\$56,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
David Mancini & Sons, Inc. 👔	First Offer - \$14,331.00	4 / each	\$57,324.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$14,936.00	4 / each	\$59,744.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$19,761.00	4 / each	\$79,044.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		_
Lanzo	First Offer - \$31,100.00	4 / each	\$124,400.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117206C101-23 Base Bid: F&I 12	2 inch Insertion Valve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$14,450.00	2 / each	\$28,900.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$16,500.00	2 / each	\$33,000.00		Υ
		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$18,000.00	2 / each	\$36,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$18,000.00	2 / each	\$36,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$18,669.00	2 / each	\$37,338.00		Υ
		Supplier Product C Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$20,000.00	2 / each	\$40,000.00		Υ
Product Code:	•	Supplier Product C	ode:		

Agency Notes:		Supplier Notes:		
Lanzo	First Offer - \$34,500.00	2 / each	\$69,000.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

PNC2117206C101-24 Base Bid: F&I 1	6 inch Insertion Valve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Southern Underground Industries, Inc.	First Offer - \$30,000.00	2 / each	\$60,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$34,200.00	2 / each	\$68,400.00		Υ
Product Code:		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$36,000.00	2 / each	\$72,000.00		Υ
		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$37,000.00	2 / each	\$74,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$41,084.00	2 / each	\$82,168.00		Υ
Product Code:		Supplier Product Code: Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$41,529.00	2 / each	\$83,058.00		Υ
		Supplier Product C Supplier Notes:	ode:		
Lanzo	First Offer - \$52,000.00	2 / each	\$104,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ric-Man Construction Florida, Inc.	First Offer - \$2,280.00	3 / each	\$6,840.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$2,505.00	3 / each	\$7,515.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$2,700.00	3 / each	\$8,100.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lanzo	First Offer - \$2,700.00	3 / each	\$8,100.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$4,500.00	3 / each	\$13,500.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
David Mancini & Sons, Inc. 👔	First Offer - \$6,500.00	3 / each	\$19,500.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$8,721.00	3 / each	\$26,163.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

|--|

	County Commissioners			Page	14 of 67
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ric-Man Construction Florida, Inc.	First Offer - \$2,199.00	2 / each	\$4,398.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lanzo	First Offer - \$2,600.00	2 / each	\$5,200.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$2,900.00	2 / each	\$5,800.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$5,000.00	2 / each	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$5,010.00	2 / each	\$10,020.00		Υ
		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$6,400.00	2 / each	\$12,800.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$25,000.00	2 / each	\$50,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117206C101-27 Base Bid: Cut	Existing 12 inch Water	r Main and Connect	Proposed Water Mai	in	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ric-Man Construction Florida, Inc.	First Offer - \$2,314.00	2 / each	\$4,628.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$3,589.00	2 / each	\$7,178.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$3,800.00	2 / each	\$7,600.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Lanzo	First Offer - \$5,000.00	2 / each	\$10,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$6,500.00	2 / each	\$13,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$6,500.00	2 / each	\$13,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$8,754.00	2 / each	\$17,508.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PNC2117206C101-28 Base Bid: Cut E	xisting 16 inch Water	Main and Connect F	Proposed Water Mai	n	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ric-Man Construction Florida, Inc.	First Offer - \$5,145.00	1 / each	\$5,145.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lanzo	First Offer - \$6,000.00	1 / each	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Υ			
Υ			
Υ			
Supplier Product Code:			
Υ			
Υ			

PNC2117206C101-29 Base Bid: Restra	in Existing 6 inch V	Vater Main Pipe			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Man Con Inc. [Ad]	First Offer - \$41.00	63 / linear feet	\$2,583.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$49.00	63 / linear feet	\$3,087.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$80.00	63 / linear feet	\$5,040.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$89.00	63 / linear feet	\$5,607.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$90.00	63 / linear feet	\$5,670.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$328.00	63 / linear feet	\$20,664.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$450.00	63 / linear feet	\$28,350.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-30 Base Bid: Restrain Existing 10 inch Water Main Pipe							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Man Con Inc. [Ad]	First Offer - \$64.00	42 / linear feet	\$2,688.00		Υ		
		Supplier Product Code: Supplier Notes:					
Southern Underground Industries, Inc.	First Offer - \$66.00	42 / linear feet	\$2,772.00		Υ		
		Supplier Product Code: Supplier Notes:					
Lanzo	First Offer - \$132.00	42 / linear feet	\$5,544.00		Υ		
		Supplier Product Code: Supplier Notes:					
David Mancini & Sons, Inc.	First Offer - \$136.00	42 / linear feet	\$5,712.00		Υ		
		Supplier Product Co Supplier Notes:	ode:				

				Page 16 01 67
Ric-Man Construction Florida, Inc.	First Offer - \$158.00	42 / linear feet	\$6,636.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Giannetti Contracting Corp.	First Offer - \$396.00	42 / linear feet	\$16,632.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$440.00	42 / linear feet	\$18,480.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PNC2117206C101-31 Base Bid: Restra	in Existing 12 inch	Water Main Pipe			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Southern Underground Industries, Inc.	First Offer - \$85.00	42 / linear feet	\$3,570.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$91.00	42 / linear feet	\$3,822.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$115.00	42 / linear feet	\$4,830.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$137.00	42 / linear feet	\$5,754.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$138.00	42 / linear feet	\$5,796.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$165.00	42 / linear feet	\$6,930.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$480.00	42 / linear feet	\$20,160.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-32 Base Bid: Restr	ain Existing 16 inch	Water Main Pipe			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Man Con Inc. [Ad]	First Offer - \$137.00	32 / linear feet	\$4,384.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$180.00	32 / linear feet	\$5,760.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$207.00	32 / linear feet	\$6,624.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$254.00	32 / linear feet	\$8,128.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$521.00	32 / linear feet	\$16,672.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$530.00	32 / linear feet	\$16,960.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$630.00	32 / linear feet	\$20,160.00		Υ

Product Code:
Agency Notes:
Supplier Product Code:
Supplier Notes:

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Southern Underground Industries, Inc.	First Offer - \$2.00	4803 / linear feet	\$9,606.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Giannetti Contracting Corp.	First Offer - \$2.28	4803 / linear feet	\$10,950.84		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :		
Ric-Man Construction Florida, Inc.	First Offer - \$4.00	4803 / linear feet	\$19,212.00		Υ
		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$4.50	4803 / linear feet	\$21,613.50		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :		
David Mancini & Sons, Inc. 👔	First Offer - \$4.50	4803 / linear feet	\$21,613.50		Υ
Product Code:		Supplier Product Code Supplier Notes:) :	,	
Lanzo	First Offer - \$5.00	4803 / linear feet	\$24,015.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :		
Man Con Inc. [Ad]	First Offer - \$6.90	4803 / linear feet	\$33,140.70		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:) :		

PNC2117206C101-34 Base Bid: Abanc	lon, Cap & Grout F	Fill Existing 6 inch W	ater Main			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$2.70	8472 / linear feet	\$22,874.40		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$2.95	8472 / linear feet	\$24,992.40		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$4.50	8472 / linear feet	\$38,124.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$6.00	8472 / linear feet	\$50,832.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$6.00	8472 / linear feet	\$50,832.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$6.00	8472 / linear feet	\$50,832.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$8.50	8472 / linear feet	\$72,012.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-35 Base Bid: Abandon, Cap & Grout Fill Existing 8 inch Water Main						
Supplier Unit Price Qty/Unit Total Price Attch. Docs					Docs	
Southern Underground Industries, Inc.	First Offer - \$3.80	10479 / linear feet	\$39,820.20		Υ	

	County	Commissioners		Page 18 of 67	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$3.84	10479 / linear feet	\$40,239.36	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$5.50	10479 / linear feet	\$57,634.50	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$7.00	10479 / linear feet	\$73,353.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$7.00	10479 / linear feet	\$73,353.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$9.00	10479 / linear feet	\$94,311.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$9.30	10479 / linear feet	\$97,454.70	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$5.08	4698 / linear feet	\$23,865.84		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			
Southern Underground Industries, Inc.	First Offer - \$5.20	4698 / linear feet	\$24,429.60		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$6.80	4698 / linear feet	\$31,946.40		Υ	
		Supplier Product Code Supplier Notes:	:			
Lanzo	First Offer - \$7.00	4698 / linear feet	\$32,886.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$9.00	4698 / linear feet	\$42,282.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc. 👔	First Offer - \$12.00	4698 / linear feet	\$56,376.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$12.40	4698 / linear feet	\$58,255.20		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			

PNC2117206C101-37 Base Bid: Abandon, Cap & Grout Fill Existing 12 inch Water Main							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Giannetti Contracting Corp.	First Offer - \$6.55	3896 / linear feet	\$25,518.80		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Southern Underground Industries, Inc.	First Offer - \$6.70	3896 / linear feet	\$26,103.20		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$8.60	3896 / linear feet	\$33,505.60		Υ		
Product Code:		Supplier Product Code:					

Agency Notes:		Supplier Notes:		1 age 10 01 01	
Lanzo	First Offer - \$10.00	3896 / linear feet	\$38,960.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$11.00	3896 / linear feet	\$42,856.00	Y	
		Supplier Product Code: Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$15.70	3896 / linear feet	\$61,167.20	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$16.00	3896 / linear feet	\$62,336.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-38 Base Bid: Abandon, Cap & Grout Fill Existing 16 inch Water Main						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$10.86	206 / linear feet	\$2,237.16		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo	First Offer - \$13.00	206 / linear feet	\$2,678.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$15.00	206 / linear feet	\$3,090.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$16.00	206 / linear feet	\$3,296.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$23.80	206 / linear feet	\$4,902.80		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$39.00	206 / linear feet	\$8,034.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$40.00	206 / linear feet	\$8,240.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-39 Base Bid: Remov	e & Dispose Existi	ng Water Main (may	vary by 20 percent)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc.	First Offer - \$9.00	2530 / linear foot	\$22,770.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$9.00	2530 / linear foot	\$22,770.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$11.00	2530 / linear foot	\$27,830.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$14.00	2530 / linear foot	\$35,420.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$14.33	2530 / linear foot	\$36,254.90		Υ	
Product Code:		Supplier Product Co	ode:			

Agency Notes:		Supplier Notes:		9-	20 01 01
Man Con Inc. [Ad]	First Offer - \$17.60	2530 / linear foot	\$44,528.00		Υ
		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$26.00	2530 / linear foot	\$65,780.00		Υ
		Supplier Product Code: Supplier Notes:			

PNC2117206C101-40 Base Bid: Remov	ng Asbestos Cement	: Water Main (may va	ry 20 per	cent)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$10.00	1100 / linear foot	\$11,000.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$26.10	1100 / linear foot	\$28,710.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$27.50	1100 / linear foot	\$30,250.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$28.00	1100 / linear foot	\$30,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$33.00	1100 / linear foot	\$36,300.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$40.00	1100 / linear foot	\$44,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$96.00	1100 / linear foot	\$105,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-41 Base Bid: F&I No	ew 5/8 inch 1 inch W	ater Meter Box & Re	locate Existing Wate	er Meter	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Man Con Inc. [Ad]	First Offer - \$580.00	2 / each	\$1,160.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$779.00	2 / each	\$1,558.00		Υ
		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$810.00	2 / each	\$1,620.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$837.00	2 / each	\$1,674.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$1,048.00	2 / each	\$2,096.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$2,760.00	2 / each	\$5,520.00		Υ
Product Code:		Supplier Product C	ode:		

Agency Notes: Supplier Notes:

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Man Con Inc. [Ad]	First Offer - \$694.00	102 / each	\$70,788.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Ric-Man Construction Florida, Inc.	First Offer - \$779.00	102 / each	\$79,458.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Southern Underground Industries, Inc.	First Offer - \$850.00	102 / each	\$86,700.00		Υ
Product Code:		Supplier Product Code: Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$1,078.00	102 / each	\$109,956.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,200.00	102 / each	\$122,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc. 👔	First Offer - \$1,495.00	102 / each	\$152,490.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$1,500.00	102 / each	\$153,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

PNC2117206C101-43 Base Bid: F&I N Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Man Con Inc. [Ad]	First Offer - \$694.00	4 / each	\$2,776.00	71110111	Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Ric-Man Construction Florida, Inc.	First Offer - \$779.00	4 / each	\$3,116.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$850.00	4 / each	\$3,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$1,053.00	4 / each	\$4,212.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,200.00	4 / each	\$4,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$1,495.00	4 / each	\$5,980.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$1,500.00	4 / each	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		

PNC2117206C101-44 Base Bid: F&I New 1 inch RPZ Backflow Preventer							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$940.00	2 / each	\$1,880.00		Υ		
Product Code:		Supplier Product C	ode:		·		

Agency Notes:		Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$1,063.00	2 / each	\$2,126.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$1,212.00	2 / each	\$2,424.00	Y	
		Supplier Product Co Supplier Notes:	ode:	·	
Southern Underground Industries, Inc.	First Offer - \$1,300.00	2 / each	\$2,600.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$1,476.00	2 / each	\$2,952.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$1,800.00	2 / each	\$3,600.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$2,600.00	2 / each	\$5,200.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	·	

PNC2117206C101-45 Base Bid: F&I New 2 inch RPZ Backflow Preventer (may vary by 20 percent)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Giannetti Contracting Corp.	First Offer - \$1,414.00	102 / each	\$144,228.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,500.00	102 / each	\$153,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Southern Underground Industries, Inc.	First Offer - \$1,700.00	102 / each	\$173,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Ric-Man Construction Florida, Inc.	First Offer - \$1,913.00	102 / each	\$195,126.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Lanzo	First Offer - \$2,250.00	102 / each	\$229,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$2,301.00	102 / each	\$234,702.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
David Mancini & Sons, Inc.	First Offer - \$3,000.00	102 / each	\$306,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2117206C101-46 Base Bid: F&I New 2 inch Irrigation PVB Backflow Preventer								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southern Underground Industries, Inc.	First Offer - \$1,600.00	4 / each	\$6,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$1,650.00	4 / each	\$6,600.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Lanzo	First Offer - \$2,200.00	4 / each	\$8,800.00		Υ			
Product Code:		Supplier Product C	ode:					

	•			raye 23 01 01	
Agency Notes:		Supplier Notes:			
David Mancini & Sons, Inc. 👔	First Offer - \$2,300.00	4 / each	\$9,200.00	Υ	
		Supplier Product Code: Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$4,092.00	4 / each	\$16,368.00	Υ	
		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$4,300.00	4 / each	\$17,200.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$5,247.00	4 / each	\$20,988.00	Υ	
		Supplier Product Code: Supplier Notes:			

PNC2117206C101-47 Base Bid: F&I New 1 inch Single Water Service (Long or Short)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ric-Man Construction Florida, Inc.	First Offer - \$978.00	2 / each	\$1,956.00		Υ				
		Supplier Product Co Supplier Notes:	ode:						
Man Con Inc. [Ad]	First Offer - \$992.00	2 / each	\$1,984.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Giannetti Contracting Corp.	First Offer - \$1,213.00	2 / each	\$2,426.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
David Mancini & Sons, Inc.	First Offer - \$1,300.00	2 / each	\$2,600.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Southern Underground Industries, Inc.	First Offer - \$1,700.00	2 / each	\$3,400.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Lanzo	First Offer - \$1,700.00	2 / each	\$3,400.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

PNC2117206C101-48 Base Bid: F&I New 2 inch Single Water Service (Short-20 feet or less of service piping)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$1,800.00	46 / each	\$82,800.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$2,047.00	46 / each	\$94,162.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$2,100.00	46 / each	\$96,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$2,150.00	46 / each	\$98,900.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
David Mancini & Sons, Inc.	First Offer - \$2,200.00	46 / each	\$101,200.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

	<u>*</u>			i aye z	- + 01 07
Man Con Inc. [Ad]	First Offer - \$2,225.00	46 / each	\$102,350.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$2,363.00	46 / each	\$108,698.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117206C101-49 Base Bid: F&I New 2 inch Single Water Service (Long) (more than 20 feet of service piping)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ric-Man Construction Florida, Inc.	First Offer - \$2,257.00	60 / each	\$135,420.00		Υ			
		Supplier Product Co Supplier Notes:	ode:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$2,500.00	60 / each	\$150,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Southern Underground Industries, Inc.	First Offer - \$2,500.00	60 / each	\$150,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
David Mancini & Sons, Inc.	First Offer - \$2,800.00	60 / each	\$168,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$2,817.00	60 / each	\$169,020.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Lanzo	First Offer - \$3,000.00	60 / each	\$180,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Giannetti Contracting Corp.	First Offer - \$3,115.00	60 / each	\$186,900.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2117206C101-50 Base Bid: F&I Ne				s and Re	connect	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Man Con Inc. [Ad]	First Offer - \$5.00	4340 / linear feet	\$21,700.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$8.00	4340 / linear feet	\$34,720.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
Lanzo	First Offer - \$14.00	4340 / linear feet	\$60,760.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$15.00	4340 / linear feet	\$65,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$19.00	4340 / linear feet	\$82,460.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$20.00	4340 / linear feet	\$86,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$29.00	4340 / linear feet	\$125,860.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Southern Underground Industries, Inc.	First Offer - \$250.00	71 / each	\$17,750.00		Υ
		Supplier Product Coo Supplier Notes:	de:		
Giannetti Contracting Corp.	First Offer - \$278.00	71 / each	\$19,738.00		Υ
		Supplier Product Coo Supplier Notes:	de:		
David Mancini & Sons, Inc.	First Offer - \$300.00	71 / each	\$21,300.00		Υ
		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$390.00	71 / each	\$27,690.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$458.00	71 / each	\$32,518.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$550.00	71 / each	\$39,050.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Ric-Man Construction Florida, Inc.	First Offer - \$1,206.00	71 / each	\$85,626.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		

		6 Sanitary Sewer Gravity Main Piping (0 to 6 feet depth)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$43.00	5884 / linear feet	\$253,012.00		Υ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$45.00	5884 / linear feet	\$264,780.00		Υ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$50.00	5884 / linear feet	\$294,200.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$57.00	5884 / linear feet	\$335,388.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$62.60	5884 / linear feet	\$368,338.40		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$70.00	5884 / linear feet	\$411,880.00		Υ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Lanzo	First Offer - \$75.00	5884 / linear feet	\$441,300.00		Υ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				

PNC2117206C101-53 Base Bid: F&I 8 inch PVC SDR-26 Sanitary Sewer Gravity Main Piping (6 to 8 feet depth)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$58.00	3918 / linear feet	\$227,244.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Giannetti Contracting Corp.	First Offer - \$59.00	3918 / linear feet	\$231,162.00		Υ			

•				. ugu i	-0 01 07
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$70.00	3918 / linear feet	\$274,260.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$75.00	3918 / linear feet	\$293,850.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$77.00	3918 / linear feet	\$301,686.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$78.70	3918 / linear feet	\$308,346.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$82.00	3918 / linear feet	\$321,276.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-54 Base Bid: F&I 8 inch PVC SDR-26 Sanitary Sewer Gravity Main Piping (8 to 10 feet depth)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$66.00	3484 / linear feet	\$229,944.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$70.00	3484 / linear feet	\$243,880.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo	First Offer - \$79.00	3484 / linear feet	\$275,236.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Southern Underground Industries, Inc.	First Offer - \$87.00	3484 / linear feet	\$303,108.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$93.00	3484 / linear feet	\$324,012.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$94.40	3484 / linear feet	\$328,889.60		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
David Mancini & Sons, Inc.	First Offer - \$97.00	3484 / linear feet	\$337,948.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-55 Base Bid: F&I 8 in	ch PVC SDR-26 Sa	nitary Sewer Gravity	/ Main Piping (10 to	PNC2117206C101-55 Base Bid: F&I 8 inch PVC SDR-26 Sanitary Sewer Gravity Main Piping (10 to12 feet depth)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Giannetti Contracting Corp.	First Offer - \$87.00	1688 / linear feet	\$146,856.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$92.00	1688 / linear feet	\$155,296.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Ric-Man Construction Florida, Inc.	First Offer - \$112.00	1688 / linear feet	\$189,056.00		Υ					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							
Man Con Inc. [Ad]	First Offer - \$121.60	1688 / linear feet	\$205,260.80		Υ					

	ocunty o	0111111001011010		Page 27	01 67
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	-	
David Mancini & Sons, Inc.	First Offer - \$124.00	1688 / linear feet	\$209,312.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$130.00	1688 / linear feet	\$219,440.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$180.00	1688 / linear feet	\$303,840.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-56 Base Bid: F&I 8 inch PVC C-900 Sanitary Sewer Gravity Main Piping (12 to 14 feet depth)						
Supplier	Unit Price		Total Price	Attch.	Docs	
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$110.00	492 / linear feet	\$54,120.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$115.00	492 / linear feet	\$56,580.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$144.00	492 / linear feet	\$70,848.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Southern Underground Industries, Inc.	First Offer - \$150.00	492 / linear feet	\$73,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$179.00	492 / linear feet	\$88,068.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$192.00	492 / linear feet	\$94,464.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo	First Offer - \$210.00	492 / linear feet	\$103,320.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-57 Base Bid: F&I 10 inch PVC C-900 Sanitary Sewer Gravity Main Piping (12 to 14 feet depth)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$120.00	696 / linear feet	\$83,520.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$137.00	696 / linear feet	\$95,352.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$149.00	696 / linear feet	\$103,704.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$160.00	696 / linear feet	\$111,360.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
David Mancini & Sons, Inc.	First Offer - \$182.00	696 / linear feet	\$126,672.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$197.80	696 / linear feet	\$137,668.80		Υ	

i .	•	1		i agc	20 01 01
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Lanzo	First Offer - \$215.00	696 / linear feet	\$149,640.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

PNC2117206C101-58 Base Bid: F&I 12 inch PVC C-900 Sanitary Sewer Gravity Main Piping (12 to 14					epth)
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$130.00	655 / linear feet	\$85,150.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$143.00	655 / linear feet	\$93,665.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$153.00	655 / linear feet	\$100,215.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$170.00	655 / linear feet	\$111,350.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$187.00	655 / linear feet	\$122,485.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$217.60	655 / linear feet	\$142,528.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$220.00	655 / linear feet	\$144,100.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$167.00	168 / linear feet	\$28,056.00		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$170.00	168 / linear feet	\$28,560.00		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$198.00	168 / linear feet	\$33,264.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$220.00	168 / linear feet	\$36,960.00		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Lanzo	First Offer - \$245.00	168 / linear feet	\$41,160.00		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$265.20	168 / linear feet	\$44,553.60		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$343.00	168 / linear feet	\$57,624.00		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$173.00	351 / linear feet	\$60,723.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$180.00	351 / linear feet	\$63,180.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Ric-Man Construction Florida, Inc.	First Offer - \$216.00	351 / linear feet	\$75,816.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Southern Underground Industries, Inc.	First Offer - \$220.00	351 / linear feet	\$77,220.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Lanzo	First Offer - \$245.00	351 / linear feet	\$85,995.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Man Con Inc. [Ad]	First Offer - \$273.10	351 / linear feet	\$95,858.10		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
David Mancini & Sons, Inc.	First Offer - \$343.00	351 / linear feet	\$120,393.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

PNC2117206C101-61 Base Bid: F&I 14	inch PVC C-905 Sa	nitary Sewer Gravity	Main Piping (14-16	feet dept	h)
Supplier	Unit Price		Total Price	Attch.	Docs
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$200.00	78 / linear feet	\$15,600.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$246.00	78 / linear feet	\$19,188.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$266.80	78 / linear feet	\$20,810.40		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$290.00	78 / linear feet	\$22,620.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$365.00	78 / linear feet	\$28,470.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$370.00	78 / linear feet	\$28,860.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$375.00	78 / linear feet	\$29,250.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-62 Base Bid: F&I Sanitary Sewer MAS (0 to 6 feet deep)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Man Con Inc. [Ad]	First Offer - \$3,436.00	33 / each	\$113,388.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
David Mancini & Sons, Inc.	First Offer - \$3,530.00	33 / each	\$116,490.00		Υ		

	County Con	11111001011010		Page 30 of 67
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	<u> </u>
Southern Underground Industries, Inc.	First Offer - \$3,800.00	33 / each	\$125,400.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Giannetti Contracting Corp.	First Offer - \$4,254.00	33 / each	\$140,382.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$4,500.00	33 / each	\$148,500.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Lanzo	First Offer - \$4,700.00	33 / each	\$155,100.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Ric-Man Construction Florida, Inc.	First Offer - \$5,525.00	33 / each	\$182,325.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

PNC2117206C101-63 Base Bid: F&I Sa	anitary Sewer MAS (6	to 8 feet deep)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
David Mancini & Sons, Inc. 👔	First Offer - \$4,100.00	17 / each	\$69,700.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$4,129.00	17 / each	\$70,193.00		Υ
		Supplier Product Code: Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$4,609.00	17 / each	\$78,353.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$4,900.00	17 / each	\$83,300.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$5,000.00	17 / each	\$85,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$5,400.00	17 / each	\$91,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$5,619.00	17 / each	\$95,523.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-64 Base Bid: F&I Sanitary Sewer MAS (8 to 10 feet deep)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc.	First Offer - \$4,700.00	14 / each	\$65,800.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$5,061.00	14 / each	\$70,854.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$5,800.00	14 / each	\$81,200.00		Υ	
Product Code:		Supplier Product Code:				
		Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$6,000.00	14 / each	\$84,000.00		Υ	
Product Code:		Supplier Product C	ode:			

•			raye 31 01 01	
	Supplier Notes:			
First Offer - \$6,130.00	14 / each	\$85,820.00	Υ	
	Supplier Product C	ode:		
	Supplier Notes:			
First Offer - \$6,184.00	14 / each	\$86,576.00	Y	
	Supplier Product Code:			
	Supplier Notes:			
First Offer - \$6,649.00	14 / each	\$93,086.00	Υ	
	Supplier Product C	ode:		
	Supplier Notes:			
	First Offer - \$6,184.00	First Offer - \$6,130.00 14 / each Supplier Product C Supplier Notes: First Offer - \$6,184.00 14 / each Supplier Product C Supplier Notes: First Offer - \$6,649.00 14 / each Supplier Product C Supplier Product C	First Offer - \$6,130.00	

PNC2117206C101-65 Base Bid: F&I	Sanitary Sewer MAS (1	0 to 12 feet deep)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc.	First Offer - \$6,200.00	5 / each	\$31,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$6,358.00	5 / each	\$31,790.00		Υ	
		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$6,500.00	5 / each	\$32,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$6,500.00	5 / each	\$32,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$7,000.00	5 / each	\$35,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$7,100.00	5 / each	\$35,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$7,787.00	5 / each	\$38,935.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-66 Base Bid: F&I Sanitary Sewer MAS (12 to 14 feet deep)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Man Con Inc. [Ad]	First Offer - \$7,616.00	7 / each	\$53,312.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$8,100.00	7 / each	\$56,700.00		Υ
		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$8,300.00	7 / each	\$58,100.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$9,100.00	7 / each	\$63,700.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$9,363.00	7 / each	\$65,541.00		Υ
		Supplier Product C Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$9,500.00	7 / each	\$66,500.00		Υ
Product Code:	•	Supplier Product C	ode:		

Agency Notes:		Supplier Notes:			2 0. 0.
Giannetti Contracting Corp.	First Offer - \$10,436.00	7 / each	\$73,052.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PNC2117206C101-67 Base Bid: F&I	Sanitary Sewer MAS (14	to 16 feet deep)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Man Con Inc. [Ad]	First Offer - \$9,223.00	4 / each	\$36,892.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:			
Lanzo	First Offer - \$10,320.00	4 / each	\$41,280.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$11,022.00	4 / each	\$44,088.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$12,000.00	4 / each	\$48,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$12,438.00	4 / each	\$49,752.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$14,200.00	4 / each	\$56,800.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:			
David Mancini & Sons, Inc.	First Offer - \$16,126.00	4 / each	\$64,504.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Man Con Inc. [Ad]	First Offer - \$2,653.00	4 / each	\$10,612.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$3,000.00	4 / each	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$5,556.00	4 / each	\$22,224.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$6,716.00	4 / each	\$26,864.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$7,050.00	4 / each	\$28,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$7,403.00	4 / each	\$29,612.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$12,000.00	4 / each	\$48,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117206C1--01-69 Base Bid: F&I Sanitary Sewer MAS External Drop Connection (10 to 12 feet deep)

Page				Page 33 of 67		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Man Con Inc. [Ad]	First Offer - \$3,314.00	2 / each	\$6,628.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$3,700.00	2 / each	\$7,400.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
David Mancini & Sons, Inc.	First Offer - \$7,028.00	2 / each	\$14,056.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$8,352.00	2 / each	\$16,704.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$8,783.00	2 / each	\$17,566.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$8,800.00	2 / each	\$17,600.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Southern Underground Industries, Inc.	First Offer - \$13,000.00	2 / each	\$26,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2117206C101-70 Base Bid: F&I Sa	anitary Sewer MAS Ex	ternal Drop Connec	tion (12 to 14 feet d	eep)	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$3,100.00	4 / each	\$12,400.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$3,882.00	4 / each	\$15,528.00		Y
Product Code:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$7,486.00	4 / each	\$29,944.00		Υ
		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$10,100.00	4 / each	\$40,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$10,119.00	4 / each	\$40,476.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$10,414.00	4 / each	\$41,656.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$18,000.00	4 / each	\$72,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117206C101-71 Base Bid: F&I Sanitary Sewer MAS External Drop Connection (14 to 16 feet deep)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$4,000.00	4 / each	\$16,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Man Con Inc. [Ad]	First Offer - \$4,715.00	4 / each	\$18,860.00		Y		
Product Code:		Supplier Product C	ode:				

	,			raye 34 01 01	
Agency Notes:		Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$8,107.00	4 / each	\$32,428.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lanzo	First Offer - \$12,500.00	4 / each	\$50,000.00	Υ	
		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$13,498.00	4 / each	\$53,992.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$17,485.00	4 / each	\$69,940.00	Y	
		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$20,000.00	4 / each	\$80,000.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117206C101-72 Base Bid: F&I 6 in	nch PVC SDR-26 S	anitary Sewer Latera	I Piping & Reconnect	t		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Man Con Inc. [Ad]	First Offer - \$20.00	2040 / linear foot	\$40,800.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$23.00	2040 / linear foot	\$46,920.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo	First Offer - \$35.00	2040 / linear foot	\$71,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Southern Underground Industries, Inc.	First Offer - \$47.00	2040 / linear foot	\$95,880.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$52.00	2040 / linear foot	\$106,080.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$55.00	2040 / linear foot	\$112,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$58.00	2040 / linear foot	\$118,320.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-73 Base Bid: F&I	8 inch PVC SDR-26 S	anitary Sewer Latera	I Piping & Reconnect	t	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Man Con Inc. [Ad]	First Offer - \$21.00	842 / linear foot	\$17,682.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$23.00	842 / linear foot	\$19,366.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Lanzo	First Offer - \$40.00	842 / linear foot	\$33,680.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$48.00	842 / linear foot	\$40,416.00		Υ
Product Code:		Supplier Product Co	ode:		

Agency Notes:	•	Supplier Notes:		Fage 33 01 07	
Giannetti Contracting Corp.	First Offer - \$54.00	842 / linear foot	\$45,468.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$56.00	842 / linear foot	\$47,152.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$60.00	842 / linear foot	\$50,520.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-74 Base Bid: F&I 6	inch Sanitary Sewer	Cleanout w/ Box and	d Collar		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$523.00	82 / each	\$42,886.00		Υ
Product Code: Agency Notes: David Mancini & Sons, Inc.	First Offer - \$/80.00	Supplier Product Co Supplier Notes:	ode: აით.სით		Ť
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$850.00	82 / each	\$69,700.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$867.00	82 / each	\$71,094.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$1,238.00	82 / each	\$101,516.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,300.00	82 / each	\$106,600.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$1,300.00	82 / each	\$106,600.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-75 Base Bid: F&I 8	inch Sanitary Sewer	Cleanout w/ Box and	d Collar		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$721.00	30 / each	\$21,630.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$885.00	30 / each	\$26,550.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$933.00	30 / each	\$27,990.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$1,152.00	30 / each	\$34,560.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$1,414.00	30 / each	\$42,420.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,500.00	30 / each	\$45,000.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
-					

				· ago (,, ,,
Lanzo	First Offer - \$1,500.00	30 / each	\$45,000.00	_	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$35.00	739 / linear foot	\$25,865.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$38.00	739 / linear foot	\$28,082.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$44.00	739 / linear foot	\$32,516.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo	First Offer - \$50.00	739 / linear foot	\$36,950.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$53.00	739 / linear foot	\$39,167.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
David Mancini & Sons, Inc.	First Offer - \$55.00	739 / linear foot	\$40,645.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$100.00	739 / linear foot	\$73,900.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-77 Base Bid: Rehabi	ilitate Evicting Sanita	ary Sawar MAS				
Supplier	Unit Price	T i	Total Price	Attch.	Docs	
Ric-Man Construction Florida, Inc.	First Offer - \$924.00	3 / each	\$2,772.00	71110111	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$2,675.00	3 / each	\$8,025.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$3,500.00	3 / each	\$10,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Southern Underground Industries, Inc.	First Offer - \$3,500.00	3 / each	\$10,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Man Con Inc. [Ad]	First Offer - \$3,560.00	3 / each	\$10,680.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
David Mancini & Sons, Inc.	First Offer - \$3,800.00	3 / each	\$11,400.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Lanzo	First Offer - \$5,600.00	3 / each	\$16,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			

PNC2117206C101-78 Base Bid: Remove & Dispose Existing Sanitary Sewer MAS					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

	County Co	Page 37		
David Mancini & Sons, Inc.	First Offer - \$853.00	59 / each	\$50,327.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$970.00	59 / each	\$57,230.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Giannetti Contracting Corp.	First Offer - \$1,266.00	59 / each	\$74,694.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Southern Underground Industries, Inc.	First Offer - \$1,400.00	59 / each	\$82,600.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Ric-Man Construction Florida, Inc.	First Offer - \$1,592.00	59 / each	\$93,928.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Man Con Inc. [Ad]	First Offer - \$1,887.00	59 / each	\$111,333.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	·
Lanzo	First Offer - \$3,000.00	59 / each	\$177,000.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

PNC2117206C101-79 Base Bid: Remo	ve & Dispose Existi	ng 8 to 12 inch VCP	Sanitary Sewer Grav	ity Main	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
David Mancini & Sons, Inc.	First Offer - \$7.00	11293 / linear feet	\$79,051.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$9.00	11293 / linear feet	\$101,637.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$10.00	11293 / linear feet	\$112,930.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$11.00	11293 / linear feet	\$124,223.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$14.00	11293 / linear feet	\$158,102.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$14.20	11293 / linear feet	\$160,360.60		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$25.00	11293 / linear feet	\$282,325.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-80 Base Bid: Remove & Dispose Existing Sanitary Sewer Lateral (6 to 8 inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Lanzo	First Offer - \$5.00	4002 / linear feet	\$20,010.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$6.60	4002 / linear feet	\$26,413.20		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

				raye 30 01 07		
David Mancini & Sons, Inc.	First Offer - \$7.00	4002 / linear feet	\$28,014.00	Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Man Con Inc. [Ad]	First Offer - \$11.60	4002 / linear feet	\$46,423.20	Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Giannetti Contracting Corp.	First Offer - \$14.00	4002 / linear feet	\$56,028.00	Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$18.00	4002 / linear feet	\$72,036.00	Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$21.00	4002 / linear feet	\$84,042.00	Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-81 Base Bid: Aband	on & Grout Fill Exi	sting 6 to 8 inch San	nitary Sewer Lateral I	Pipe		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$4.00	1327 / linear feet	\$5,308.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo	First Offer - \$7.00	1327 / linear feet	\$9,289.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$8.40	1327 / linear feet	\$11,146.80		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc. 👔	First Offer - \$9.00	1327 / linear feet	\$11,943.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$9.20	1327 / linear feet	\$12,208.40		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$10.00	1327 / linear feet	\$13,270.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Southern Underground Industries, Inc.	First Offer - \$14.00	1327 / linear feet	\$18,578.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-82 Base Bid: Abandon & Grout Fill Existing 8 to 12 inch Sanitary Sewer Main Pipe									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Giannetti Contracting Corp.	First Offer - \$7.00	8210 / linear feet	\$57,470.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$9.60	8210 / linear feet	\$78,816.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Ric-Man Construction Florida, Inc.	First Offer - \$10.00	8210 / linear feet	\$82,100.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Lanzo	First Offer - \$10.00	8210 / linear feet	\$82,100.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

				i agc ou	, 0, 0,
Man Con Inc. [Ad]	First Offer - \$11.70	8210 / linear feet	\$96,057.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$14.00	8210 / linear feet	\$114,940.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$16.00	8210 / linear feet	\$131,360.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	·	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$557.00	32 / each	\$17,824.00		Υ
		Supplier Product Co Supplier Notes:	de:		
David Mancini & Sons, Inc.	First Offer - \$1,100.00	32 / each	\$35,200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Man Con Inc. [Ad]	First Offer - \$1,145.00	32 / each	\$36,640.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Southern Underground Industries, Inc.	First Offer - \$1,200.00	32 / each	\$38,400.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Ric-Man Construction Florida, Inc.	First Offer - \$1,684.00	32 / each	\$53,888.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,700.00	32 / each	\$54,400.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Lanzo	First Offer - \$1,900.00	32 / each	\$60,800.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

PNC2117206C101-84 Base Bid: F&I 12	inch DID Force Mai	in			
		1			_
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Southern Underground Industries, Inc.	First Offer - \$80.00	1911 / linear feet	\$152,880.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$81.80	1911 / linear feet	\$156,319.80		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$82.00	1911 / linear feet	\$156,702.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$86.00	1911 / linear feet	\$164,346.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$110.00	1911 / linear feet	\$210,210.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Lanzo	First Offer - \$110.00	1911 / linear feet	\$210,210.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

Ric-Man Construction Florida, Inc. | First Offer - \$111.00 | 1911 / linear feet | \$212,121.00 | Y |

Product Code: | Supplier Product Code: | Supplier Notes: | Supplier Notes

PNC2117206C101-85 Base Bid: F&I D						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$1,100.00	6 / ton	\$6,600.00		Υ	
		Supplier Product C Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$1,200.00	6 / ton	\$7,200.00		Υ	
		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$7,831.00	6 / ton	\$46,986.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$9,000.00	6 / ton	\$54,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$13,200.00	6 / ton	\$79,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$13,661.00	6 / ton	\$81,966.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$18,000.00	6 / ton	\$108,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2117206C101-86 Base Bid: F&I 8	inch Plug Valve w/ B	ox, Extension and a	II Appurtenances		
Supplier	Unit Price		Total Price	Attch.	Docs
Man Con Inc. [Ad]	First Offer - \$1,852.00	1 / each	\$1,852.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$2,050.00	1 / each	\$2,050.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$2,500.00	1 / each	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$2,500.00	1 / each	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$2,500.00	1 / each	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$2,900.00	1 / each	\$2,900.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$4,875.00	1 / each	\$4,875.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-87 Base Bid: F&I 12 inch Plug Valve w/ Box, Extension and all Appurtenances						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs

			Г	age 4 i oi o/	
Man Con Inc. [Ad]	First Offer - \$3,101.00	6 / each	\$18,606.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$3,271.00	6 / each	\$19,626.00	Y	
		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$3,800.00	6 / each	\$22,800.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$3,900.00	6 / each	\$23,400.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$3,900.00	6 / each	\$23,400.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$5,100.00	6 / each	\$30,600.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$6,806.00	6 / each	\$40,836.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-88 Base Bid: F&I 8	inch Insertion Valve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$9,800.00	2 / each	\$19,600.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$10,450.00	2 / each	\$20,900.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$11,188.00	2 / each	\$22,376.00		Υ
Product Code: Agency Notes:	•	Supplier Product C Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$11,828.00	2 / each	\$23,656.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$12,000.00	2 / each	\$24,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$12,215.00	2 / each	\$24,430.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lanzo	First Offer - \$16,800.00	2 / each	\$33,600.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117206C101-89 Base Bid: Cut Ex	xisting 8 inch Force N	Main and Connect Pr	roposed Force Main		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Lanzo	First Offer - \$2,250.00	1 / each	\$2,250.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$2,300.00	1 / each	\$2,300.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Southern Underground Industries, Inc.	First Offer - \$2,500.00	1 / each	\$2,500.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Man Con Inc. [Ad]	First Offer - \$2,984.00	1 / each	\$2,984.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Ric-Man Construction Florida, Inc.	First Offer - \$4,914.00	1 / each	\$4,914.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
David Mancini & Sons, Inc.	First Offer - \$7,400.00	1 / each	\$7,400.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Giannetti Contracting Corp.	First Offer - \$8,337.00	1 / each	\$8,337.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	

PNC2117206C101-90 Base Bid: Restra	in Existing 8 inch F	orce Main			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$32.00	28 / linear feet	\$896.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$40.00	28 / linear feet	\$1,120.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$90.00	28 / linear feet	\$2,520.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$98.00	28 / linear feet	\$2,744.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$131.00	28 / linear feet	\$3,668.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$145.00	28 / linear feet	\$4,060.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$180.00	28 / linear feet	\$5,040.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-91 Base Bid: F&I Ai	r Vacuum/Air Releas	e Valve within MAS			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
David Mancini & Sons, Inc. 👔	First Offer - \$5,700.00	4 / each	\$22,800.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$6,026.00	4 / each	\$24,104.00		Υ
		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$7,000.00	4 / each	\$28,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$7,394.00	4 / each	\$29,576.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Giannetti Contracting Corp.	First Offer - \$8,018.00	4 / each	\$32,072.00	Υ	
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Lanzo	First Offer - \$8,200.00	4 / each	\$32,800.00	Y	
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$8,300.00	4 / each	\$33,200.00	Y	
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PNC2117206C101-92 Base Bid: Abando	on, Cap & Grout F	Fill Existing 8 inch For	ce Main			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$3.84	4753 / linear feet	\$18,251.52		Υ	
		Supplier Product Cod Supplier Notes:	le:			
Southern Underground Industries, Inc.	First Offer - \$4.10	4753 / linear feet	\$19,487.30		Υ	
		Supplier Product Cod Supplier Notes:	le:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$6.30	4753 / linear feet	\$29,943.90		Υ	
		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$7.00	4753 / linear feet	\$33,271.00		Υ	
		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$8.00	4753 / linear feet	\$38,024.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$9.00	4753 / linear feet	\$42,777.00		Υ	
		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$9.70	4753 / linear feet	\$46,104.10		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			

DN0044700004 04 00 D D: 1 F01 6	0 1:6:0:				
PNC2117206C101-93 Base Bid: F&I S			Total Drice	Assala	Dana
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Man Con Inc. [Ad]	First Offer - \$613,833.00	1 / each	\$613,833.00		Y
Product Code:	_	Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$650,000.00	1 / each	\$650,000.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$664,966.00	1 / each	\$664,966.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$668,000.00	1 / each	\$668,000.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Lanzo	First Offer - \$670,000.00	1 / each	\$670,000.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$775,000.00	1 / each	\$775,000.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$980,000.00	1 / each	\$980,000.00		Υ

Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	

DNC2117206C1 01 04 Page Pide Furni	ah Emarganay Canarat	~ · ·			
PNC2117206C101-94 Base Bid: Furni Supplier	Unit Price		Total Price	Attch.	Docs
David Mancini & Sons, Inc.	First Offer - \$88,000.00	1 / each	\$88,000.00	7 (10111	Y
		Supplier Product C Supplier Notes:	Code:		
Southern Underground Industries, Inc.	First Offer - \$95,000.00	1 / each	\$95,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Ric-Man Construction Florida, Inc.	First Offer - \$99,658.00	1 / each	\$99,658.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$111,320.00	1 / each	\$111,320.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Lanzo	First Offer - \$115,000.00	1 / each	\$115,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Giannetti Contracting Corp.	First Offer - \$125,000.00	1 / each	\$125,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$343,000.00	1 / each	\$343,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Man Con Inc. [Ad]	First Offer - \$21,840.50	1 / each	\$21,840.50		Υ
		Supplier Product C Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$23,000.00	1 / each	\$23,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lanzo	First Offer - \$23,500.00	1 / each	\$23,500.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$23,660.00	1 / each	\$23,660.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$25,000.00	1 / each	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
David Mancini & Sons, Inc. 👔	First Offer - \$35,000.00	1 / each	\$35,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$75,000.00	1 / each	\$75,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117206C101-96 Base Bid: Abandon Existing Sanitary Sewer Lift Station No. 50 B3						
Supplier Unit Price Qty/Unit Total Price Attch.					Docs	
Man Con Inc. [Ad]	First Offer - \$21,840.50	1 / each	\$21,840.50		Υ	

				Page 45 of 67	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	ŭ	
Lanzo	First Offer - \$23,500.00	1 / each	\$23,500.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$23,660.00	1 / each	\$23,660.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$25,000.00	1 / each	\$25,000.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$34,000.00	1 / each	\$34,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$35,000.00	1 / each	\$35,000.00	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$75,000.00	1 / each	\$75,000.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117206C101-97 Base Bid: By-Pas	ss Pumping					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Lanzo	First Offer - \$30,900.00	1 / lump sum	\$30,900.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Giannetti Contracting Corp.	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Southern Underground Industries, Inc.	First Offer - \$58,000.00	1 / lump sum	\$58,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
David Mancini & Sons, Inc.	First Offer - \$120,000.00	1 / lump sum	\$120,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$280,084.00	1 / lump sum	\$280,084.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$307,858.00	1 / lump sum	\$307,858.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$363,000.00	1 / lump sum	\$363,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PNC2117206C101-98 Base Bid: Remove & Dispose Existing Asphalt Pavement Cross Section								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
David Mancini & Sons, Inc.	First Offer - \$1.30	29995 / square yard	\$38,993.50		Υ			
		Supplier Product Code: Supplier Notes:						
Giannetti Contracting Corp.	First Offer - \$2.00	29995 / square yard	\$59,990.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$3.60	29995 / square yard	\$107,982.00		Y			

Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	1 age 40 01 07	
Lanzo	First Offer - \$4.00	29995 / square yard	\$119,980.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$5.30	29995 / square yard	\$158,973.50	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$6.00	29995 / square yard	\$179,970.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$12.00	29995 / square yard	\$359,940.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-99 Base Bid: Furnis	h and Place 1 inch	Type SP -9.5 Asphalt	(1st Lift)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$6.35	29995 / square yard	\$190,468.25		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$7.56	29995 / square yard	\$226,762.20		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$8.80	29995 / square yard	\$263,956.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$9.00	29995 / square yard	\$269,955.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$10.00	29995 / square yard	\$299,950.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$10.00	29995 / square yard	\$299,950.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$11.00	29995 / square yard	\$329,945.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-100 Base Bid: Furnis	PNC2117206C101-100 Base Bid: Furnish and Place 1 inch Type SP-9.5 Asphalt (Final Lift)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Man Con Inc. [Ad]	First Offer - \$7.87	29995 / square yard	\$236,060.65		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Southern Underground Industries, Inc.	First Offer - \$8.00	29995 / square yard	\$239,960.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Giannetti Contracting Corp.	First Offer - \$8.22	29995 / square yard	\$246,558.90		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
David Mancini & Sons, Inc.	First Offer - \$8.80	29995 / square yard	\$263,956.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Ric-Man Construction Florida, Inc.	First Offer - \$10.00	29995 / square yard	\$299,950.00		Υ		
Product Code:		Supplier Product Co	ode:				

				i ugc ¬	7 01 07
Agency Notes:		Supplier Notes:			
Lanzo	First Offer - \$10.00	29995 / square yard	\$299,950.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$11.00	29995 / square yard	\$329,945.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

PNC2117206C101-101 Base Bid: Furnis	h and Place 8 inch	Limerock Base (LBF	R 100)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Lanzo	First Offer - \$12.50	32995 / square yard	\$412,437.50		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Southern Underground Industries, Inc.	First Offer - \$13.00	32995 / square yard	\$428,935.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$13.08	32995 / square yard	\$431,574.60		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$17.25	32995 / square yard	\$569,163.75		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$18.23	32995 / square yard	\$601,498.85		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$19.00	32995 / square yard	\$626,905.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$22.00	32995 / square yard	\$725,890.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-102 Base Bid: F8	&P 12 inch Stabilized S	Subgrade (LBR 40)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Southern Underground Industries, Inc.	First Offer - \$1.80	35994 / square yard	\$64,789.20		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$2.80	35994 / square yard	\$100,783.20		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$4.00	35994 / square yard	\$143,976.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$4.24	35994 / square yard	\$152,614.56		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$4.60	35994 / square yard	\$165,572.40		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$4.80	35994 / square yard	\$172,771.20		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$5.00	35994 / square yard	\$179,970.00		Υ
Product Code:		Supplier Product Co	ode:		

Agency Notes: Supplier Notes:

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$27.13	15078 / square yard	\$409,066.14		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
David Mancini & Sons, Inc.	First Offer - \$39.00	15078 / square yard	\$588,042.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Lanzo	First Offer - \$40.00	15078 / square yard	\$603,120.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$44.00	15078 / square yard	\$663,432.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Ric-Man Construction Florida, Inc.	First Offer - \$46.00	15078 / square yard	\$693,588.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$70.00	15078 / square yard	\$1,055,460.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Southern Underground Industries, Inc.	First Offer - \$80.00	15078 / square yard	\$1,206,240.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

PNC2117206C101-104 Base Bid: F&	P Pavement Restorat	ion on Private Prop e	erty		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
David Mancini & Sons, Inc. 👔	First Offer - \$39.00	583 / square yard	\$22,737.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$43.96	583 / square yard	\$25,628.68		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$48.40	583 / square yard	\$28,217.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$50.00	583 / square yard	\$29,150.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$70.00	583 / square yard	\$40,810.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$75.00	583 / square yard	\$43,725.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$80.00	583 / square yard	\$46,640.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-105 Base Bid: F&P Pavement Restoration within FDOT Rights-of-Way (Oakland Park Blvd)							
Supplier Unit Price Qty/Unit Total Price Attch. Do					Docs		
Southern Underground Industries, Inc.	First Offer - \$17.00	1946 / square yard	\$33,082.00		Υ		
Product Code:		Supplier Product Co	ode:				

				raye 49 01 01	
Agency Notes:		Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$29.00	1946 / square yard	\$56,434.00	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$46.11	1946 / square yard	\$89,730.06	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$53.00	1946 / square yard	\$103,138.00	Y	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Lanzo	First Offer - \$53.00	1946 / square yard	\$103,138.00	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$80.00	1946 / square yard	\$155,680.00	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$81.50	1946 / square yard	\$158,599.00	Y	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$1.85	45900 / square yard	\$84,915.00		Υ	
		Supplier Product Coo Supplier Notes:	le:			
David Mancini & Sons, Inc. 👔	First Offer - \$2.40	45900 / square yard	\$110,160.00		Υ	
		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$2.50	45900 / square yard	\$114,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	ie:			
Lanzo	First Offer - \$2.50	45900 / square yard	\$114,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$2.90	45900 / square yard	\$133,110.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$3.10	45900 / square yard	\$142,290.00		Υ	
		Supplier Product Coo Supplier Notes:	ie:			
Southern Underground Industries, Inc.	First Offer - \$3.30	45900 / square yard	\$151,470.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			

PNC2117206C101-107 Base Bid: Mill 1	5/8 inch Existing	Roadway Asphalt w/	in FDOT Rights-of-V	Vay		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ric-Man Construction Florida, Inc.	First Offer - \$2.50	5731 / square yard	\$14,327.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$2.75	5731 / square yard	\$15,760.25		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$3.00	5731 / square yard	\$17,193.00		Υ	
Product Code:		Supplier Product Co	ode:			

Agency Notes:		Supplier Notes:		r ago oo or or	
Southern Underground Industries, Inc. First	t Offer - \$3.50	5731 / square yard	\$20,058.50	Υ	
		Supplier Product Co Supplier Notes:	de:		
Giannetti Contracting Corp. First	t Offer - \$3.80	5731 / square yard	\$21,777.80	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Man Con Inc. [Ad] First	t Offer - \$4.11	5731 / square yard	\$23,554.41	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad] First	t Offer - \$4.40	5731 / square yard	\$25,216.40	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-108 Base Bid: Furnis	h and Place 1 inch	Type SP -9.5 Aspha	ılt Overlav (mav varv	bv 20 pe	rcent)
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Southern Underground Industries, Inc.	First Offer - \$6.90	45900 / square yard	\$316,710.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$7.80	45900 / square yard	\$358,020.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$8.07	45900 / square yard	\$370,413.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$8.30	45900 / square yard	\$380,970.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$9.90	45900 / square yard	\$454,410.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$11.00	45900 / square yard	\$504,900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$11.00	45900 / square yard	\$504,900.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Blvd) Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$15.82	5731 / square yard	\$90,664.42	Attoll.	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$17.00	5731 / square yard	\$97,427.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$18.76	5731 / square yard	\$107,513.56		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$19.25	5731 / square yard	\$110,321.75		Υ	
		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$20.00	5731 / square yard	\$114,620.00		Υ	

	-			1 age 31 of 01
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Ric-Man Construction Florida, Inc.	First Offer - \$22.00	5731 / square yard	\$126,082.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Lanzo	First Offer - \$22.00	5731 / square yard	\$126,082.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PNC2117206C101-110 Base Bid: Rem	ove & Replace Type	e F Curb & Gutter (m	nay vary by 20 percer	nt)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc. 👔	First Offer - \$20.00	316 / linear feet	\$6,320.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo	First Offer - \$25.00	316 / linear feet	\$7,900.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$30.00	316 / linear feet	\$9,480.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Southern Underground Industries, Inc.	First Offer - \$30.00	316 / linear feet	\$9,480.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$32.00	316 / linear feet	\$10,112.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$33.00	316 / linear feet	\$10,428.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$40.00	316 / linear feet	\$12,640.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$18.00	2568 / linear feet	\$46,224.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$20.00	2568 / linear feet	\$51,360.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc. 👔	First Offer - \$21.00	2568 / linear feet	\$53,928.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$25.00	2568 / linear feet	\$64,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$25.00	2568 / linear feet	\$64,200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$27.70	2568 / linear feet	\$71,133.60		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$30.00	2568 / linear feet	\$77,040.00		Υ
Product Code:		Supplier Product Co	de:		

Agency Notes: Supplier Notes:

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$50.00	653 / square yard	\$32,650.00		Υ	
		Supplier Product Code Supplier Notes:	:			
David Mancini & Sons, Inc.	First Offer - \$56.00	653 / square yard	\$36,568.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			
Lanzo	First Offer - \$58.00	653 / square yard	\$37,874.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$61.00	653 / square yard	\$39,833.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$68.00	653 / square yard	\$44,404.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$70.00	653 / square yard	\$45,710.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$74.00	653 / square yard	\$48,322.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			

PNC2117206C101-113 Base Bid: R					_	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc. 👔	First Offer - \$6.00	13269 / square yard	\$79,614.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Lanzo	First Offer - \$7.00	13269 / square yard	\$92,883.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$8.35	13269 / square yard	\$110,796.15		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$10.00	13269 / square yard	\$132,690.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$12.00	13269 / square yard	\$159,228.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$17.00	13269 / square yard	\$225,573.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$22.00	13269 / square yard	\$291,918.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

PNC2117206C101-114 Base Bid: Remove and Replace Sod on Private Property							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
David Mancini & Sons, Inc.	First Offer - \$6.00	3161 / square yard	\$18,966.00		Υ		
Product Code:		Supplier Product Co	ode:				

				rage 33 01 01		
Agency Notes:		Supplier Notes:				
Lanzo	First Offer - \$9.00	3161 / square yard	\$28,449.00	Υ		
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$9.52	3161 / square yard	\$30,092.72	Υ		
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$10.00	3161 / square yard	\$31,610.00	Υ		
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$13.30	3161 / square yard	\$42,041.30	Y		
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$14.00	3161 / square yard	\$44,254.00	Υ		
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$45.00	3161 / square yard	\$142,245.00	Υ		
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
		· · · · · · · · · · · · · · · · · · ·				

PNC2117206C101-115 Base Bid: F&I Cast-in-Place Truncated Domes Detectable Warning per FDOT Index 304						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$4.60	275 / square feet	\$1,265.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
David Mancini & Sons, Inc.	First Offer - \$24.00	275 / square feet	\$6,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$25.75	275 / square feet	\$7,081.25		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$31.20	275 / square feet	\$8,580.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo	First Offer - \$32.00	275 / square feet	\$8,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$33.00	275 / square feet	\$9,075.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$316.00	275 / square feet	\$86,900.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-116 Base Bid: R&D 12 to 15 inch CMP, Install 12 to 15 inch Drainage Pipe (may vary by 20%)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ric-Man Construction Florida, Inc.	First Offer - \$44.00	550 / linear foot	\$24,200.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$50.00	550 / linear foot	\$27,500.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$52.00	550 / linear foot	\$28,600.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

Lanzo	First Offer - \$57.00	550 / linear foot	\$31,350.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Man Con Inc. [Ad]	First Offer - \$60.00	550 / linear foot	\$33,000.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$74.00	550 / linear foot	\$40,700.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Giannetti Contracting Corp.	First Offer - \$78.00	550 / linear foot	\$42,900.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PNC2117206C101-117 Base Bid: R&D	18 inch CMP, Insta	ill 18 inch Drainage i	Pipe (may vary by 20	percent)	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
David Mancini & Sons, Inc. 👔	First Offer - \$54.00	275 / linear feet	\$14,850.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$59.00	275 / linear feet	\$16,225.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$62.00	275 / linear feet	\$17,050.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$71.00	275 / linear feet	\$19,525.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$81.00	275 / linear feet	\$22,275.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$84.00	275 / linear feet	\$23,100.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$93.00	275 / linear feet	\$25,575.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-118 Base Bid: R&D	24 inch CMP, Instal	l 24 inch Drainage P	ipe (may vary by 20	percent)	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Lanzo	First Offer - \$73.00	110 / linear feet	\$8,030.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$80.00	110 / linear feet	\$8,800.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$92.00	110 / linear feet	\$10,120.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$96.00	110 / linear feet	\$10,560.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$96.00	110 / linear feet	\$10,560.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

	,			raye	00 01 01
David Mancini & Sons, Inc.	First Offer - \$97.00	110 / linear feet	\$10,670.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$141.00	110 / linear feet	\$15,510.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

PNC2117206C101-119 Base Bid: R&D 30 inch CMP, Install 30 inch Drainage Pipe (may vary by 20 percent)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Lanzo	First Offer - \$88.00	110 / linear feet	\$9,680.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$108.00	110 / linear feet	\$11,880.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$109.00	110 / linear feet	\$11,990.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$112.00	110 / linear feet	\$12,320.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$120.00	110 / linear feet	\$13,200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$120.00	110 / linear feet	\$13,200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$184.00	110 / linear feet	\$20,240.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-120 Base Bid: R&D	36 inch CMP, Insta	II 36 inch Drainage P	ripe (may vary by 20	percent)	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Lanzo	First Offer - \$92.00	110 / linear feet	\$10,120.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$116.00	110 / linear feet	\$12,760.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	•	
Man Con Inc. [Ad]	First Offer - \$120.00	110 / linear feet	\$13,200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$123.00	110 / linear feet	\$13,530.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$130.00	110 / linear feet	\$14,300.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$160.00	110 / linear feet	\$17,600.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$222.00	110 / linear feet	\$24,420.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
David Mancini & Sons, Inc.	First Offer - \$2,400.00	12 / each	\$28,800.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$3,500.00	12 / each	\$42,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$4,200.00	12 / each	\$50,400.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$4,700.00	12 / each	\$56,400.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$5,000.00	12 / each	\$60,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$5,135.00	12 / each	\$61,620.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$5,897.00	12 / each	\$70,764.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-122 Base Bid: R&d	Existing Storm Drain	age Structure (may y	vary by 20 percent)		
Supplier	Unit Price		Total Price	Attch.	Docs
David Mancini & Sons, Inc.	First Offer - \$853.00	9 / each	\$7,677.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$1,100.00	9 / each	\$9,900.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$1,200.00	9 / each	\$10,800.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$1,297.00	9 / each	\$11,673.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$1,887.00	9 / each	\$16,983.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$5,500.00	9 / each	\$49,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$6,263.00	9 / each	\$56,367.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-123 Base Bid: Relocate Trees and Palms (less than 10 inch caliper)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Lanzo	First Offer - \$500.00	2 / each	\$1,000.00		Υ	
Product Code:		Supplier Product C	ode:			
		Supplier Notes:				

	Page 57 of 6				
Man Con Inc. [Ad]	First Offer - \$605.00	2 / each	\$1,210.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$710.00	2 / each	\$1,420.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$1,000.00	2 / each	\$2,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$1,200.00	2 / each	\$2,400.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$1,868.00	2 / each	\$3,736.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$2,475.00	2 / each	\$4,950.00	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$680.00	23 / each	\$15,640.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Lanzo	First Offer - \$700.00	23 / each	\$16,100.00		Υ
		Supplier Product Co Supplier Notes:	de:		
Man Con Inc. [Ad]	First Offer - \$1,815.00	23 / each	\$41,745.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$1,868.00	23 / each	\$42,964.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$2,300.00	23 / each	\$52,900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$2,500.00	23 / each	\$57,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$3,000.00	23 / each	\$69,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

PNC2117206C101-125 Base Bid: Remove and Dispose of Trees and Palms (10 inch caliper and greater)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ric-Man Construction Florida, Inc.	First Offer - \$623.00	7 / each	\$4,361.00		Υ			
		Supplier Product Code: Supplier Notes:						
Southern Underground Industries, Inc.	First Offer - \$1,000.00	7 / each	\$7,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Lanzo	First Offer - \$2,100.00	7 / each	\$14,700.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

County Con			Page 58 of 67			
First Offer - \$2,117.00	7 / each	\$14,819.00	Υ			
	Supplier Product C Supplier Notes:	ode:				
First Offer - \$2,500.00	7 / each	\$17,500.00	Υ			
		Supplier Product Code: Supplier Notes:				
First Offer - \$3,000.00	7 / each	\$21,000.00	Y			
	Supplier Product C Supplier Notes:	ode:				
First Offer - \$3,000.00	7 / each	\$21,000.00	Υ			
	Supplier Product Consumplier Notes:	ode:				
	First Offer - \$2,117.00 First Offer - \$2,500.00 First Offer - \$3,000.00	First Offer - \$2,117.00 7 / each Supplier Product C Supplier Notes: First Offer - \$2,500.00 7 / each Supplier Product C Supplier Notes: First Offer - \$3,000.00 7 / each Supplier Product C Supplier Notes: First Offer - \$3,000.00 7 / each Supplier Product C	Supplier Product Code: Supplier Notes: First Offer - \$2,500.00 7 / each \$17,500.00			

PNC2117206C101-126 Base Bid: F&I E	Bursera Simaruba/G	Gumbo Limbo (2 inch	caliper, 12 foot heid	ght, 6 foo	t	
spread)				, ,		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$400.00	2 / each	\$800.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$623.00	2 / each	\$1,246.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Southern Underground Industries, Inc.	First Offer - \$690.00	2 / each	\$1,380.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$700.00	2 / each	\$1,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$726.00	2 / each	\$1,452.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$750.00	2 / each	\$1,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$770.00	2 / each	\$1,540.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-127 Base Bid: F&I C	Coccoloba Diversifo	lia/Pigeon Plum (10	ft H, 2 inch Dia at DI	BH, 6 ft s	oread	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$300.00	1 / each	\$300.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$623.00	1 / each	\$623.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$690.00	1 / each	\$690.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$726.00	1 / each	\$726.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$750.00	1 / each	\$750.00		Υ	
Product Code:		Supplier Product Code:				

,			raye.	39 01 07	
	Supplier Notes:				
First Offer - \$770.00	1 / each	\$770.00		Υ	
Product Code:		Supplier Product Code:			
	Supplier Notes:				
First Offer - \$935.00	1 / each	\$935.00		Υ	
	• •	ode:			
	Supplier Notes:				
	First Offer - \$770.00	Supplier Product Co Supplier Notes: 1 / each	First Offer - \$770.00	Supplier Notes:	

PNC2117206C101-128 Base Bid: F&I C	Quercus Virginiana/S	outhern Live Oak (3	in. caliper, 14 ft H,	6 ft sprea	ad	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ric-Man Construction Florida, Inc.	First Offer - \$623.00	4 / each	\$2,492.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Southern Underground Industries, Inc.	First Offer - \$690.00	4 / each	\$2,760.00		Υ	
		Supplier Product C Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$726.00	4 / each	\$2,904.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$900.00	4 / each	\$3,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$1,100.00	4 / each	\$4,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,200.00	4 / each	\$4,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$1,237.00	4 / each	\$4,948.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2117206C101-129 Base Bid: F	&I Sabal Palmetto/Cab	bage Palm (12 in Dia	a at DBH, 15 ft H, 6 t	o 8 foot s	pread
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$300.00	6 / each	\$1,800.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$468.00	6 / each	\$2,808.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$484.00	6 / each	\$2,904.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$500.00	6 / each	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$520.00	6 / each	\$3,120.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$623.00	6 / each	\$3,738.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$690.00	6 / each	\$4,140.00		Υ
Product Code:		Supplier Product Code:			

Agency Notes: Supplier Notes:

PNC2117206C101-130 Base Bid: F&P	6 in Thermoplastic	Solid White, Yellow	Traffic Stripe			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc.	First Offer - \$0.80	14622 / linear foot	\$11,697.60		Υ	
		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$0.90	14622 / linear foot	\$13,159.80		Υ	
		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$1.00	14622 / linear foot	\$14,622.00		Υ	
		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1.50	14622 / linear foot	\$21,933.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$2.00	14622 / linear foot	\$29,244.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$2.00	14622 / linear foot	\$29,244.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$2.70	14622 / linear foot	\$39,479.40		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-131 Base Bid: F&	P 12 inch Thermopla	stic Solid White Traf	fic Stripe Cross Walk			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc.	First Offer - \$2.00	241 / linear feet	\$482.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$2.40	241 / linear feet	\$578.40		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$3.00	241 / linear feet	\$723.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$3.40	241 / linear feet	\$819.40		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$4.00	241 / linear feet	\$964.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$4.00	241 / linear feet	\$964.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$4.60	241 / linear feet	\$1,108.60		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-132 Base Bid: F&P 18 inch Thermoplastic Solid White and Yellow Stripe							
Supplier	Unit Price	Qty/Unit	Total Price Attch. D				
David Mancini & Sons, Inc.	First Offer - \$2.65	293 / linear feet	\$776.45		Υ		
Product Code:							

	County	Commissioners		Page 61 of 67		
Agency Notes:		Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$3.00	293 / linear feet	\$879.00	Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$3.00	293 / linear feet	\$879.00	Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$6.00	293 / linear feet	\$1,758.00	Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$6.40	293 / linear feet	\$1,875.20	Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$6.90	293 / linear feet	\$2,021.70	Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$7.00	293 / linear feet	\$2,051.00	Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117206C101-133 Base Bid: F&P 2	4 inch Thermoplas	stic Solid White Stop	Bar, Special Emphas	sis Crossv	walk
Strip Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
David Mancini & Sons, Inc.	First Offer - \$4.40	572 / linear feet	\$2,516.80		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$4.80	572 / linear feet	\$2,745.60		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$5.00	572 / linear feet	\$2,860.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$8.00	572 / linear feet	\$4,576.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$9.00	572 / linear feet	\$5,148.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$10.00	572 / linear feet	\$5,720.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$12.00	572 / linear feet	\$6,864.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-134 Base Bid: Temporarily Remove and Re-install Existing Sign Post Assembly							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Southern Underground Industries, Inc.	First Offer - \$120.00	39 / each	\$4,680.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$160.00	39 / each	\$6,240.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Man Con Inc. [Ad]	First Offer - \$182.00	39 / each	\$7,098.00		Y		
Product Code:		Supplier Product Co	ode:				

Agency Notes:		Supplier Notes:		1 age 02 01 07
Giannetti Contracting Corp.	First Offer - \$250.00	39 / each	\$9,750.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
David Mancini & Sons, Inc.	First Offer - \$275.00	39 / each	\$10,725.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Lanzo	First Offer - \$310.00	39 / each	\$12,090.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Ric-Man Construction Florida, Inc.	First Offer - \$311.00	39 / each	\$12,129.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$290.00	26 / each	\$7.540.00	71110111	Y
Product Code: Agency Notes:	П. нестене. Фдесте	Supplier Product Co Supplier Notes:	, ,		
David Mancini & Sons, Inc. 👔	First Offer - \$302.00	26 / each	\$7,852.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$343.00	26 / each	\$8,918.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$350.00	26 / each	\$9,100.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$363.00	26 / each	\$9,438.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$380.00	26 / each	\$9,880.00		Υ
Product Code: Agency Notes:			ode:		
Giannetti Contracting Corp.	First Offer - \$500.00	26 / each	\$13,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-136 Base Bid: Fur	nish and Place Refl	ective Pavement Mar	ker (RPM)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Lanzo	First Offer - \$3.50	1430 / each	\$5,005.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$4.20	1430 / each	\$6,006.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$5.00	1430 / each	\$7,150.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$5.50	1430 / each	\$7,865.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$6.00	1430 / each	\$8,580.00		Υ
Product Code:		Supplier Product Co	ode:		

Agency Notes:		Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$6.90	1430 / each	\$9,867.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$7.00	1430 / each	\$10,010.00		Υ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				

PNC2117206C101-137 Base Bid: F&P Thermoplastic Turn Arrows, Handicap Parking Symbol per FDOT Index 17346						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc.	First Offer - \$66.00	19 / each	\$1,254.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$121.00	19 / each	\$2,299.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$150.00	19 / each	\$2,850.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$200.00	19 / each	\$3,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo	First Offer - \$200.00	19 / each	\$3,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Southern Underground Industries, Inc.	First Offer - \$230.00	19 / each	\$4,370.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$262.00	19 / each	\$4,978.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

DN0011700001 01 100 D Did. E-	istica Devisa Dele Com				
PNC2117206C101-138 Base Bid: Exampler	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ric-Man Construction Florida, Inc.	First Offer - \$1,320.00	10 / each	\$13,200.00	Atton.	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	. ,		
Southern Underground Industries, Inc.	First Offer - \$1,500.00	10 / each	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$1,650.00	10 / each	\$16,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$1,750.00	10 / each	\$17,500.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$1,815.00	10 / each	\$18,150.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$2,100.00	10 / each	\$21,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lanzo	First Offer - \$6,200.00	10 / each	\$62,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ric-Man Construction Florida, Inc.	First Offer - \$3.00	6165 / linear foot	\$18,495.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$5.00	6165 / linear foot	\$30,825.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$8.40	6165 / linear foot	\$51,786.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$9.00	6165 / linear foot	\$55,485.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$12.00	6165 / linear foot	\$73,980.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$17.00	6165 / linear foot	\$104,805.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$19.50	6165 / linear foot	\$120,217.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-140 Base Bid: Remove and Replace Irrigation Pop-Up Sprinkler Heads (may vary 20 percent)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ric-Man Construction Florida, Inc.	First Offer - \$11.00	300 / each	\$3,300.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Southern Underground Industries, Inc.	First Offer - \$20.00	300 / each	\$6,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Lanzo	First Offer - \$31.00	300 / each	\$9,300.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
David Mancini & Sons, Inc.	First Offer - \$40.00	300 / each	\$12,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Giannetti Contracting Corp.	First Offer - \$40.00	300 / each	\$12,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Man Con Inc. [Ad]	First Offer - \$45.00	300 / each	\$13,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$57.00	300 / each	\$17,100.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2117206C101-141 Base Bid: Remove and Replace Irrigation Controllor (may vary by 20 percent)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Man Con Inc. [Ad]	First Offer - \$300.00	10 / each	\$3,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:	1	Supplier Notes:			•

				Page	70 10 CO
Ric-Man Construction Florida, Inc.	First Offer - \$405.00	10 / each	\$4,050.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$620.00	10 / each	\$6,200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$1,000.00	10 / each	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$1,000.00	10 / each	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$1,650.00	10 / each	\$16,500.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		•
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,800.00	10 / each	\$18,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Southern Underground Industries, Inc.	First Offer - \$300.00	20 / each	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$310.00	20 / each	\$6,200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$311.00	20 / each	\$6,220.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$363.00	20 / each	\$7,260.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$400.00	20 / each	\$8,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$400.00	20 / each	\$8,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$860.00	20 / each	\$17,200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117206C101-143 Base Bid: Repa	ir Existing Roadwa	y (may vary by 20%)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Lanzo	First Offer - \$24.00	1000 / square yard	\$24,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$28.00	1000 / square yard	\$28,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$32.00	1000 / square yard	\$32,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$36.00	1000 / square yard	\$36,000.00	Υ	Υ	

Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:	
David Mancini &	EN	First Offer - \$39.00	1000 / square yard	\$39,000.00	Y
Product Code: Agency Notes:		<u> </u>	Supplier Product Co Supplier Notes:		
i e	ground Industries, Inc.	First Offer - \$80.00	1000 / square yard	\$80,000.00	Y
Product Code Agency Notes:			Supplier Product Co Supplier Notes:	de:	
Giannetti Contra	cting Corp.	First Offer - \$93.00	1000 / square yard	\$93,000.00	Υ
Product Code Agency Notes:			Supplier Product Co Supplier Notes:	de:	
Supplier Tota	ıls				
f Giannetti	Contracting Corp.		\$12,453,4	91.51 (143/143 items	s)
	ob Henning ob@giannetticorp.com h 954-972- 8104		Address 1801 N	NW 18th St. ano Beach, FL 33069	
Agency Notes	s:		Supplier Notes	:	Head Attch:
Bid Allowance					\$515,400.00
f Man Con I	nc. [Ad]		\$12,854,3	28.55 (143/143 items	;)
Bid Contact P	enny Camarra		Address 3460 \$	SW 11th Street	
P F	atel@mancon.ws h 954-427-0230 ax 954-427-8133		Deerfi	eld Beach, FL 33442	
Bid Bond	(Status: Authorized on Sep 2	26, 2018)			
Agency Notes	s:		Supplier Notes	:	Head Attch:
Bid Allowance					\$515,400.00
f Southern I	Jnderground Industries, In	c.	\$13,334	1,443.10 (143/143 ite	ms)
Bid Contact	Juan Barreneche juanb@southernui.com Ph 954-650-4699	-		NW 44 Street, Suite 20 and Park, FL 33309	05,
	CBE DBE MBE SB SB	<u> </u>			
Agency Notes	s:		Supplier Note	s:	Head Attch:
Bid Allowance					\$515,400.00
f David Man	cini & Sons, Inc.		\$13,656,2	11.95 (143/143 items	s)
cl	hristopher Lazzari lazzari@dmsi.co h 954-895-0741		Address 1939 N	NW 40th Ct ano Beach, FL 33064	
Bid Bond	(Status: Authorized on Oct 1	7, 2018)			
Agency Notes	s:		Supplier Notes	:	Head

		County Commissioners P	age 67 of 67
Bid Allowance			Attch: \$515,400.0
f Ric-Man C	Construction Florida, Inc.	\$14,631,181.5335 (143/143 items)
c	John dalessandro dlacross@ric-manfl.com Ph 954-426 -1221	Address 3100 sw 15th street deerfield beach, FL 33442	
Agency Note	es:	Supplier Notes:	Head Attch:
Bid Allowance			\$515,400.0
f Lanzo		\$15,185,047.50 (143/143 items	;)
Bid Contact	Robert Beaty prajwala@lanzo.org Ph 954-979-0802 Fax 954-979-9897	Address 125 SE 5 Ct Deerfield Beach, FL 33441	
Supplier Code	vC0000023787		
Agency Note	es:	Supplier Notes:	Head Attch:
Bid Allowance			\$515,400.0
F RIC-MAN I	INTERNATIONAL [Ad]	\$16,084,467.80 (143/143 items	;)
t	Hamill Andrade bid@ric-man.us Ph 954-426 -1042	Address 1545 NW 27TH AVE POMPANO BEACH, FL 33069	
Agency Note	es:	Supplier Notes:	Head Attch:
Bid Allowance			\$515,400.0
SkyData UA	AV	\$20,250.00 (1	/143 items
Bid Contact	David Oakes david@skydatauav.com Ph 954-533-3194	Address 4179 Davie Road Suite 200 Davie, FL 33314	
Qualifications	CBE SB SBE		
Agency Note	es:	Supplier Notes:	